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Full Marks : 80
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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
ST PR Tl i

(a) Why do export form a part of National
income?

wr@aww%ﬁwﬁwﬁsmww?

(b) Define disposable income.
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(d)

(e)
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(2)

Which elements are included in
aggregate expenditure?

P I ComRers R R 9

How can we derive investment
multiplier from marginal propensity to
consume?

AT o1 o oy R @%@
I SqT FRI oI 2 |
What is meant by transfer payment?

When can net exports be negative?

b 1 @Rw qorere = 9

What is token money?
o @ R 2

What is Keynesian concept about
money supply? -

GRS 4TS e T ey 2

What is fiscal policy?
IR N R 9

Define liquidity trap,
kL) I ) ﬁm |

( Continued )

(3)

. . . -10
2. Answer the following questions : 2x5

T 2P bed fdl

(a) Distinguish between Private income and
Personal income.

oS Joq T SE TS ST 4 foran |

(b) What is the difference between gross
domestic product at factor cost and at

market price?

ST AW OF IEH PO RS PR
Beomwa e

(c) Write two limitations of measurement of
National income.

SIS T 1R 1 Sl o |

(d) What are the components'of consump-
tion function?

’@merw%ﬂwm{;ﬁﬁ?

(e/) Why do people demand liquid cash?
Tz w9 7o foew oif¥ T 2
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(4) (s)

(d) Explain the factors determining the

3. Answer any four of the following' i .
V5 erowing questions : marginal propensity to consume.

5x4=20
oo ftdl 2P R e wikerR T fian AT cor oSl FRERT F9 SARFPTR I
F!

‘a) Explain different method :

“ n:tpional incc:ml:: methods of measuring (e What are the components of money
| ly? Explain.

W S A TR RS M supp.

o T R BoreerR R R 2 e

(b) Compute NNP at factor cost from the

; licy in
. . . () Discuss the role of monetary po ‘
following mformat;on ) b controlling inflation.
TR TP [ Tme T wilRe g
R awe wife MR TR
oW Teore S 2
*q '
Item ¥ (in crores)
L 591 (cfbe) 4. Answer the following questions : 10x4=40
1. Wages and salaries 435 ' L
T T I wore fiar e e fam
2. Rents 116 (a) Explain the basic issues of macro-
Sl economics. 10
3. Interest 84 TR SRR o1 SO B
4. Profits 125 Or / &
s
5. Mixed income 105 What adjustments are to be made to
e wm calculate disposable income ‘from GDP?
6. Net factor income from abroad 70 How far does GDP reflect natinoal well-
R Bomra LAz wy being? 7+3=10
(€) Explain the significance of money in a T W W FRAA GDP (P
modern economy. eomae) & e IR aear 7 w®w e
L CLL e TS giwmﬁm@@mawﬁwa,wm
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(7)
(6)
_ e il ? Explain
i d) - What is hquldlty pr eference.a :
{b) State .and explain Keynesian (d) how equilibrium rate of interest is
psyotl;lologcal law of consumption. What determined according to Keynes. 2+8=10
are the assumption roin
P s of the law? 10 \9 R R REP T O @A
‘155‘5‘3"‘13"§“‘ 1l ogwh IS W ST o9 T AT IR <R, I 0
T 1 9% TR SRYR
TR R 2 Or / %1
Or/ &y . .
| E Explain the process of credit creation by
Distinguish  between ‘actual  and : Commercial banks. What are the
potential GDP. Explain the impact of limitations of credit creation power of
changes in Govt. expenditure and taxes Commercial banks? 6+4=10
on National income. 2+8=10 | . > < % ‘qﬁ SIRRRICOT T J |
I S FBRG IS G SeoAT A1 o | AR @I 49 R FIOR NAREOPHR
WERl T WF FW ARGH WO wwe | R
FCTMCR AS CoIET, R0 347 | }
* %k

(¢ Explain how equilibrium national
income is determined by classical
theorists. 10

RIS SRR W ST WOy gy
TS AR 31 C2fewn, 0 991 1

Or / 7%y

Critically explain the cash transaction
approach of quantity theory of money.
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